


NAME……………………………………………..ADM NO………….CLASS…………..

TERM 2 END TERM EXAM 2012
MATHEMATICS FORM 2

ANSWER ALL QUESTIONS IN THIS PAPER ON THE SPACED PROVIDED


SECTION A	(50MKS)


1) Evaluate                        									(3mks)

-12 ÷ (-3) x 4 – (-15)
    -5 x 6 ÷ 2 + (-5)
















2) Convert 12.18 into a fraction								(3mks)













3) Evaluate without using mathematical tables or calculators.				(3mks)

0.0168 x 2.46 x7
    5.74 x 0.112













        
4) Use tables of squares, square roots and reciprocals to evaluate correct 4 s.f.		(4mks)

3       -        2
     √0.0136	    3.722













   



5) i) Find the GCD of 144x3y2 and 81xy4							(         )






ii) Factorise completely the expression 144x3y2 + 81xy4					(3mks)














6) When a certain number x is divided by 30, 45,0r 54 there is always a remainder of 21, find the smallest such number.									(3mks)















7) Simplify		1252/3 ÷34								(3mks)
   243-3/5












8) Write as a single fraction									(3mks)

2x – 5  –  1 – x  –  x – 4
     4          3             3













9) Mary has 21 coins whose total value is sh.72. There are twice as many five shillings coins as there are ten shillings coins. The rest are one shilling coins. Find the number of ten shillings coins that Mary has.									(3mks)















10) Evaluate	 7cos50.20									(3mks)
 9.5sin600









11) Find the equation of lining passing through (-5,3) and is perpendicular to a line whose equation is 2y + x – 3 = 0									(3mks)














12) Use logarithms to evaluate	3  8754 x 53.84
					   0.8241 ÷ 8.72					(4mks)
















13) Solve for x in the equation								(3mks)

9x-1 + 32x + 1 = 36









14) a) Find the following trigonometric ratios

i) Sin 57.170







ii) Cos 80.340







iii) tan 86.230 






b) Find

i) Cos-1 0.0122






ii) tan-1 1.6391






iii) Sinθ = 0.7421 find θ



							
15) Find the area of the figure given below.							(3mks)













































SECTION B (50 MARKS) ANSWER ALL QUESTIONS

16) A trader bought some eggs at shs.64 per dozen and sold two-thirds of them at shs.240 per tray and the other one-third at shs.225 per tray. In so doing, she made a profit if shs.450. Given that one tray holds 30 eggs, determine;-

a) The number of eggs she bought.							(4mks)















b) The percentage profit she made.							(3mks)















c) The percentage profit she would have made if she sold all the eggs at shs.240 per tray.													(3mks)






17)  a) On the graph paper provided, draw the figure ABCD with co-ordinates A(3,2), B(6,3), C(4,5) and D (2,4)										(2mks)

b) On the same grid, locate the figure A1B1C1D1 which is the image of object ABCD under a rotation of +1800 and centre of rotation (0,0). State the co-ordinates of A1B1C1D.	(4mks)

c) On the same grid, locate the figure A11B11C11D11 which is the image of A1B1C1D1 under reflection in the line y = -1. State the co-ordinates of A11B11C11D11.			(4mks)





































18) The length of a room is 3 metres longer than its width and its perimeter is 22cm. A carpet whose area is 18m2 is laid in the middle of the room leaving a margin 50cm wide between the wall and the carpet all round the room.

a) Taking W to represent the width of the room, express the dimensions of the carpet in terms of W.											(2mks)







b) Write down the area of the carpet in terms of W.					(2mks)






c) Determine the dimensions of the room.						(3mks)












d) The space between the wall and the carpet is covered with polythene which costs sh. 145 per square metre. Find the cost of the material required.					(3mks)










19) a. i) On the graph paper provided, draw the rectangle ABCD with co-ordinates A(1,2), B(1,2) C(4, 4) and D(1, 4)									(2mks)

ii) On the same grid, locate the figure AIBICIDI which is the image of object ABCD under an enlargement scale factor -2; with origin as the centre of enlargement. State the co-ordinates of AI BI CI DI.										(4mks)





iii) Given that the area of rectangle ABCD is 24cm2, find the area of rectangle AIBICIDI.													(2mks)












b) In the circle below of radius 4cm, the centre of enlargement is X. Draw on the same figure the image of the circle with enlargement scale factor of ½.				(2mk) 





















20) In the figure below, PS is parallel to QR.SR= 10cm and        SPT =    RQT = 900. T is a point on PQ such such that ST = 6cm, angle PTS = 300 and angle QTR = 600.
















a) Giving a reason, find the size of angle STR.						(2mks)





b) Calculate the lengths of ;								(5mks)

i) TR



ii) QR



iii) QT



iv) PS



v) PT

c) Calculate the area of the figure PQRS.							(3mks)
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